
1

GEBRUIKERSHANDLEIDING
MODE D’EMPLOI
BEDIENUNGSANLEITUNG
USER’S MANUAL
MANUAL DE USUARIO
MANUALE D’USO
INSTRUKCJA OBSŁUGI
ANVÄNDARMANUAL

NL:	Pizza oven
FR:	 Four à pizza  
DE:	Pizzaofen  
EN: Pizza oven 
ES: 	Horno para pizzas
IT: 	 Forno per pizza
PL:	 Piec do pizzy
SE:	 Pizzaugn

Pizza oven 160 cm

Model: 21682



2



3

NL. GEBRUIKERSHANDLEIDING

• 	Verpakkingsmateriaal kan gevaarlijk zijn voor kinderen. Er bestaat verstikkings-
	 gevaar. Laat geen verpakkingsmateriaal binnen het bereik van jonge kinderen 		
	 rondslingeren. 
• 	Gebruik het apparaat niet bij slechte weersomstandigheden, zoals harde wind.  
• 	Draag geen losse kleding wanneer u de grill gebruikt en laat geen haar in contact 	
	 komen met de grill. 
• 	Installatie en demontage mag enkel door volwassenen worden uitgevoerd. 
• 	Houd te allen tijde een brandblusser in de buurt van dit product. 
• 	Plaats geen goederen van meer dan 5 kg. op elke zijplank. 
• 	Gebruik geen benzine, kerosine of alcohol om houtskool aan te maken. Gebruik 
	 van één van deze producten of soortgelijke producten kan een steekvlam, 
	 steekvlam of explosie veroorzaken.  
	 Ernstig lichamelijk letsel kan het gevolg zijn. 
• 	Voeg geen aanmaakblokjes voor houtskool toe aan het bestaande vuur. Er kan 		
	 een steekvlam ontstaan dat lichamelijk letsel kan veroorzaken. 
• 	Steek de grill niet aan en gebruik hem niet zonder dat de uitschuifbare aslade is 
	 geplaatst. 
• 	Houd een afstand van 3 meter tussen de grill en brandbare materialen wanneer 		
	 de grill in gebruik is (inclusief, maar niet beperkt tot struiken, heesters, bomen, 
	 bladeren, gras, houten dekken of hekken, gebouwen, enz.) 
• 	De barbecue moet worden opgewarmd en de brandstof moet ten minste 
	 30 minuten roodgloeiend worden gehouden voordat u voor het eerst gaat koken. 
• 	Niet koken voordat de brandstof een aslaag heeft. 
• 	Laat het rooster, de kolen of as niet heet en onbeheerd achter.
• 	Probeer de grill niet te verplaatsen terwijl hij in gebruik is. 
• 	Laat het apparaat volledig afkoelen voordat u het gaat schoonmaken of een
	 onderhoud uitvoerd. 
• 	Aanbevolen wordt dat de maximale kolencapaciteit 2,0 kg is. 
• 	WAARSCHUWING! Deze barbecue wordt zeer heet, verplaats hem niet tijdens 
	 het gebruik. 
• 	Niet binnenshuis gebruiken! 
• 	WAARSCHUWING! Gebruik geen spiritus of benzine voor het aansteken of 
	 opnieuw aansteken! 
	 Alleen aanmaakblokjes gebruiken die voldoen aan EN 1860-3! 
• 	WAARSCHUWING! Houd kinderen en huisdieren uit de buurt. 
• 	Gebruik geen naakte vlam in de grillkuip, gebruik in plaats daarvan houtskoolvuur. 
 
 
 
 
 
 
 
 
 
Gebruik de barbecue niet in een afgesloten en/of bewoonbare ruimte b.v. huizen, 
tenten, caravans, campers, boten. Dodelijk gevaar voor koolmonoxidevergiftiging.



4

FR. MODE D’EMPLOI

• 	Les matériaux d’emballage peuvent être dangereux pour les enfants. Il y a un risque 
	 d’étouffement. Ne laissez pas les matériaux d’emballage à la portée des jeunes 
	 enfants. 
• 	N’utilisez pas l’appareil dans de mauvaises conditions météorologiques, telles que 
	 des vents forts. 
• 	Ne portez pas de vêtements amples lorsque vous utilisez le gril et ne laissez pas vos 
	 cheveux entrer en contact avec le gril. 
• 	L’installation et le démontage ne peuvent être effectués que par des adultes. 
• 	Gardez un extincteur à proximité de ce produit en tout temps. 
• 	Ne placez pas de marchandises de plus de 5 kg. sur chaque étagère latérale. 
• 	N’utilisez pas d’essence, de kérosène ou d’alcool pour allumer du charbon de bois. 	
	 L’utilisation de l’un de ces produits ou de produits similaires peut provoquer un 
	 incendie éclair, un chalumeau ou une explosion. 
	 Des lésions corporelles graves peuvent en résulter. 
• 	N’ajoutez pas d’allume-charbon au feu existant. Un incendie éclair peut se produire 
	 et causer des blessures. 
• 	N’allumez pas et n’utilisez pas le gril sans le cendrier extensible en place. 
• 	Gardez une distance de 3 mètres entre le gril et les matériaux combustibles lorsque 
	 le gril est utilisé (y compris, mais sans s’y limiter, les buissons, les arbustes, les arbres, 
	 les feuilles, l’herbe, les terrasses ou clôtures en bois, les bâtiments, etc.) 
• 	Le barbecue doit être préchauffé et le combustible doit mijoter au rouge pendant 
	 au moins 30 minutes avant la première cuisson. 
• 	Ne pas faire bouillir jusqu’à ce que le combustible ait une couche de cendre. 
• 	Ne laissez pas la grille, les charbons ou les cendres chauds et sans surveillance. 
• 	N’essayez pas de déplacer le gril lorsqu’il est en cours d’utilisation. 
• 	Laissez l’appareil refroidir complètement avant de le nettoyer ou d’effectuer 
	 l’entretien. 
• 	Il est recommandé que la capacité maximale de charbon soit de 2,0 kg. 
• 	AVERTISSEMENT! Ce barbecue devient très chaud, ne le déplacez pas pendant son 	
	 utilisation. 
• 	Ne pas utiliser à l’intérieur ! 
• 	AVERTISSEMENT! Ne pas utiliser d’alcool à brûler ou d’essence pour l’allumage ou 
	 le rallumage! 
	 N’utilisez que des allume-feu conformes à la norme EN 1860-3 ! 
• 	AVERTISSEMENT! Éloignez les enfants et les animaux domestiques. 
• 	N’utilisez pas de flamme nue dans la cuve du gril, utilisez plutôt des feux de charbon 	
	 de bois. 
 
 
 
 
 
 
 
 
 
N’utilisez pas le barbecue dans un espace fermé et/ou habitable, par ex. maisons, 
tentes, caravanes, camping-cars, bateaux. Danger mortel d’empoisonnement au 
monoxyde de carbone.



5

DE. BEDIENUNGSANLEITUNG

• 	Verpackungsmaterialien können für Kinder gefährlich sein. Es besteht 
	 Erstickungsgefahr. Lassen Sie Verpackungsmaterialien nicht in Reichweite von 
	 kleinen Kindern. 
• 	Verwenden Sie das Gerät nicht bei schlechten Wetterbedingungen, wie z. B. 
	 starkem Wind. 
• 	Tragen Sie keine weite Kleidung, wenn Sie den Grill verwenden, und lassen Sie keine 	
	 Haare mit dem Grill in Kontakt kommen. 
• 	Montage und Demontage dürfen nur von Erwachsenen durchgeführt werden. 
• 	Halten Sie immer einen Feuerlöscher in der Nähe dieses Produkts. 
• 	Legen Sie keine Waren mit einem Gewicht von mehr als 5 kg ab. auf jeder 
	 Seitenablage. 
• 	Verwenden Sie kein Benzin, Kerosin oder Alkohol zum Anzünden von Holzkohle. 
	 Die Verwendung eines dieser Produkte oder ähnlicher Produkte kann zu einem 
	 Stichfeuer, einer Lötlampe oder einer Explosion führen. 
	 Schwere Körperverletzung kann die Folge sein. 
• 	Fügen Sie dem bestehenden Feuer keine Holzkohleanzünder hinzu. Es kann zu einem 
	 Stichfeuer kommen und Personenschäden verursachen. 
• 	Den Grill nicht anzünden oder benutzen, ohne dass die ausziehbare Aschenlade 
	 eingesetzt ist. 
• 	Halten Sie einen Abstand von 3 Metern zwischen dem Grill und brennbaren 
	 Materialien ein, wenn der Grill verwendet wird (einschließlich, aber nicht beschränkt 
	 auf Büsche, Sträucher, Bäume, Blätter, Gras, Holzdecks oder -zäune, Gebäude usw.). 
• 	Vor dem ersten Grillen sollte der Grill vorgeheizt und der Brennstoff mindestens 
	 30 Minuten rotglühend köcheln gelassen werden. 
• 	Kochen Sie erst, wenn der Brennstoff eine Ascheschicht aufweist. 
• 	Lassen Sie den Rost, die Kohlen oder die Asche nicht heiß und unbeaufsichtigt. 
• 	Versuchen Sie nicht, den Grill zu bewegen, während er in Gebrauch ist. 
• 	Lassen Sie das Gerät vollständig abkühlen, bevor Sie es reinigen oder warten. 
• 	Es wird empfohlen, dass die maximale Kohlekapazität 2,0 kg beträgt. 
• 	WARNUNG! Dieser Grill wird sehr heiß, bewegen Sie ihn nicht während des 
	 Gebrauchs. 
• 	Nicht in Innenräumen verwenden! 
• 	WARNUNG! Verwenden Sie zum Anzünden oder Wiederanzünden keinen 
	 Brennspiritus oder Benzin! 
	 Verwenden Sie nur Feueranzünder, die der EN 1860-3 entsprechen! 
• 	WARNUNG! Halten Sie Kinder und Haustiere fern. 
• 	Verwenden Sie keine offene Flamme in der Grillwanne, verwenden Sie stattdessen 	
	 Holzkohlefeuer. 
 
 
 
 
 
 
 
 
 
Verwenden Sie den Grill nicht in einem geschlossenen und/oder bewohnbaren Raum, 
z. Häuser, Zelte, Wohnwagen, Wohnmobile, Boote. Tödliche Gefahr einer Kohlenmo-
noxidvergiftung.



6

EN. USER’S MANUAL

• 	Packaging materials can be dangerous for children. There is a risk of suffocation. 
	 Do not leave packaging materials within reach of young children.
• 	Do not use it in bad weather conditions such as high winds. 
• 	Do not wear loose clothing when using the grill or allow hair to come in contact 
	 with the grill.
• 	The installation and dismantling must be done by an adult.
• 	Keep a fire extinguisher near this product at all times.
• 	Don’t place goods over 5 kgs. on each side shelf.
• 	Do not use gasoline, kerosene, or alcohol to light charcoal. Using any of these 
	 products or similar products could cause a flare up, a flash fire or an explosion. 
	 Severe bodily injuries can be a potential result.
• 	Do not add instant light charcoal briquettes to the existing fire. Aflash fire may result 
	 that could cause bodily injuries.
• 	Do not light and operate the grill without the slide out ash pan in place.
• 	Keep10 feet of clearance between grill and any combustible materials when grill is 
	 in use (including, but not limited to bushes, shrubs, trees, leaves, grass, wooden 
	 decks or fences, buildings, etc.)
• 	The barbecue shall be heated up and the fuel kept red hot for at least 30 min. 		
	 prior to the first cooking.
• 	Do not cook before the fuel has a coating of ash.
• 	Do not leave grill or coals hot and ashes unattended.
• 	Do not try to move the grill while it is in use.
• 	Allow the unit to cool completely before conducting any routine cleaning or 
	 maintaining.
• 	Recommend the maximum coal capacity is 2.0 kgs.
• 	WARNING! This barbecue will become very hot, do not move it during operation.
• 	Do not use indoors! 
• 	WARNING! Do not use spirit or petrol for lighting or re-lighting! 
	 Use only firelighters complying to EN 1860-3! 
• 	WARNING! Keep children and pets away. 
• 	Do not use nacked flame in the grill bowl, use charcoal fire instead.

Do not use the barbecue in a confined and/or habitable space e.g. houses, tents, 
caravans, motor homes, boats. Danger of carbon monoxide poisoning fatality.



7

ES. GUIA DEL USUARIO

• 	Los materiales de embalaje pueden ser peligrosos para los niños. Hay peligro de 
	 asfixia. No deje los materiales de embalaje al alcance de los niños pequeños. 
• 	No utilice el dispositivo en condiciones climáticas adversas, como viento fuerte. 
• 	No use ropa suelta cuando use la parrilla y no permita que el cabello entre en 
	 contacto con la parrilla. 
• 	La instalación y el desmontaje solo pueden ser realizados por adultos. 
• 	Mantenga un extintor cerca de este producto en todo momento. 
• 	No coloque mercancías de más de 5 kg. en cada estante lateral. 
• 	No use gasolina, queroseno o alcohol para encender el carbón. El uso de uno de 
	 estos productos o productos similares puede provocar un incendio repentino, un 
	 soplete o una explosión. 
	 Se pueden producir lesiones corporales graves. 
• 	No agregue encendedores de carbón al fuego existente. Puede producirse un 
	 incendio repentino y causar lesiones personales. 
• 	No encienda ni utilice la parrilla sin el cenicero extensible en su lugar. 
• 	Mantenga una distancia de 3 metros entre la parrilla y los materiales combustibles 
	 cuando la parrilla esté en uso (incluidos, entre otros, arbustos, arbustos, árboles, 
	 hojas, césped, terrazas o cercas de madera, edificios, etc.) 
• 	Se debe precalentar la barbacoa y dejar que el combustible hierva al rojo vivo 
	 durante al menos 30 minutos antes de cocinar por primera vez. 
• 	No hierva hasta que el combustible tenga una capa de ceniza. 
• 	No deje la parrilla, las brasas o las cenizas calientes y desatendidas. 
• 	No intente mover la parrilla mientras está en uso. 
• 	Permita que el dispositivo se enfríe por completo antes de limpiarlo o realizar el 
	 mantenimiento. 
• 	Se recomienda que la capacidad máxima de carbón sea de 2,0 kg. 
• 	¡ADVERTENCIA! Esta barbacoa se calienta mucho, no la mueva durante su uso. 
• 	¡No utilizar en interiores! 
• 	¡ADVERTENCIA! ¡No utilice alcohol metílico o gasolina para encender o volver a 		
	 encender! 
	 ¡Utilice únicamente encendedores que cumplan con la norma EN 1860-3! 
• 	¡ADVERTENCIA! Mantenga a los niños y las mascotas alejados. 
• 	No use una llama abierta en la tina de la parrilla, use fuego de carbón en su lugar. 
 
 
 
 
 
 
 
 
 
No utilice la barbacoa en un espacio cerrado y/o habitable, p. casas, tiendas de 
campaña, caravanas, autocaravanas, barcos. Peligro mortal de envenenamiento 
por monóxido de carbono.



8

IT. GUIDA PER L’UTENTE

• 	I materiali di imballaggio possono essere pericolosi per i bambini. C’è un rischio di 
	 soffocamento. Non lasciare i materiali di imballaggio alla portata dei bambini. 
• 	Non utilizzare il dispositivo in condizioni meteorologiche avverse, come vento forte. 
• 	Non indossare indumenti larghi quando si utilizza la griglia e non lasciare che i 
	 capelli entrino in contatto con la griglia. 
• 	L’installazione e lo smontaggio possono essere eseguiti solo da adulti. 
• 	Tenere sempre un estintore vicino a questo prodotto. 
• 	Non depositare merci di peso superiore a 5 kg. su ogni ripiano laterale. 
• 	Non utilizzare benzina, cherosene o alcol per accendere il carbone. L’uso di uno di 
	 questi prodotti o prodotti simili può causare incendi, fiamma ossidrica o esplosioni. 
	 Possono verificarsi gravi danni fisici. 
• 	Non aggiungere accendini a carbone al fuoco esistente. Potrebbe verificarsi un 		
	 flash fire e causare lesioni personali. 
• 	Non accendere o utilizzare il grill senza il cassetto cenere estensibile in posizione. 
• 	Mantenere una distanza di 3 metri tra la griglia e i materiali combustibili quando la 
	 griglia è in uso (inclusi, a titolo esemplificativo, cespugli, arbusti, alberi, foglie, erba, 	
	 terrazze o recinzioni di legno, edifici, ecc.) 
• 	Il barbecue deve essere preriscaldato e il carburante lasciato cuocere a fuoco 		
	 lento per almeno 30 minuti prima della prima cottura. 
• 	Non bollire finché il carburante non ha uno strato di cenere. 
• 	Non lasciare la griglia, la brace o la cenere calda e incustodita. 
• 	Non tentare di spostare il grill mentre è in uso. 
• 	Attendere che il dispositivo si raffreddi completamente prima di pulirlo o eseguire la 
	 manutenzione. 
• 	Si raccomanda che la capacità massima del carbone sia di 2,0 kg. 
• 	AVVERTIMENTO! Questo barbecue diventa molto caldo, non spostarlo durante l’uso. 
• 	Non utilizzare all’interno! 
• 	AVVERTIMENTO! Non utilizzare alcol denaturato o benzina per l’illuminazione o la 		
	 riaccensione! 
	 Utilizzare solo accendifuoco conformi alla norma EN 1860-3! 
• 	AVVERTIMENTO! Tenere lontani bambini e animali domestici. 
• 	Non utilizzare fiamme libere nella vasca grill, utilizzare invece fuochi a carbone. 
 
 
 
 
 
 
 
 
 
Non utilizzare il barbecue in uno spazio chiuso e/o abitabile ad es. case, tende, 
roulotte, camper, barche. Pericolo mortale di avvelenamento da monossido di 
carbonio.



9

PL. INSTRUKCJA OBSŁUGI

• 	Materiały opakowaniowe mogą być niebezpieczne dla dzieci. Istnieje ryzyko 
	 zadławienia. Nie zostawiaj materiałów opakowaniowych w zasięgu małych dzieci. 
• 	Nie używaj urządzenia w złych warunkach pogodowych, takich jak silny wiatr. 
• 	Podczas korzystania z grilla nie należy nosić luźnej odzieży i nie dopuszczać do 
	 kontaktu włosów z grillem. 
• 	Instalację i demontaż mogą wykonywać wyłącznie osoby dorosłe. 
• 	Zawsze trzymaj gaśnicę w pobliżu tego produktu. 
• 	Nie umieszczaj towarów o masie większej niż 5 kg. na każdej półce bocznej. 
• 	Nie używaj benzyny, nafty ani alkoholu do rozpalania węgla drzewnego. Użycie 		
	 jednego z tych lub podobnych produktów może spowodować wybuch pożaru, 		
	 palnik lub wybuch. 
	 Może to spowodować poważne uszkodzenie ciała. 
• 	Nie dodawaj zapalniczek na węgiel drzewny do istniejącego kominka. Może 
	 wybuchnąć pożar i spowodować obrażenia ciała. 
• 	Nie zapalaj ani nie używaj grilla bez wysuwanego popielnika. 
• 	Zachowaj odległość 3 metrów między grillem a materiałami palnymi, gdy grill jest 	
	 używany (w tym między innymi krzaki, krzewy, drzewa, liście, trawa, drewniane 		
	 pokłady lub ogrodzenia, budynki itp.) 
• 	Grill powinien być wstępnie podgrzany, a paliwo gotowane na wolnym ogniu przez 	
	 co najmniej 30 minut przed pierwszym gotowaniem. 
• 	Nie gotować, dopóki na paliwie nie pojawi się warstwa popiołu. 
• 	Nie pozostawiaj rusztu, węgli lub popiołu gorącego i bez nadzoru. 
• 	Nie próbuj przesuwać grilla, gdy jest używany. 
• 	Przed czyszczeniem lub konserwacją poczekaj, aż urządzenie całkowicie ostygnie. 
• 	Zaleca się, aby maksymalna pojemność węgla wynosiła 2,0 kg. 
• 	OSTRZEŻENIE! Ten grill bardzo się nagrzewa, nie ruszaj go podczas użytkowania. 
• 	Nie używać w pomieszczeniach! 
• 	OSTRZEŻENIE! Nie używaj spirytusu metylowego lub benzyny do zapalania lub 		
	 ponownego zapalania! 
	 Używaj wyłącznie podpałek zgodnych z normą EN 1860-3! 
• 	OSTRZEŻENIE! Trzymaj dzieci i zwierzęta z dala. 
• 	Nie używaj otwartego ognia w komorze grilla, zamiast tego używaj ognia na węgiel 	
	 drzewny. 
 
 
 
 
 
 
 
 
 
Nie używaj grilla w zamkniętej i/lub mieszkalnej przestrzeni, np. domy, namioty, 
przyczepy kempingowe, kampery, łodzie. Śmiertelne niebezpieczeństwo zatrucia 
tlenkiem węgla.



10

SE. ANVÄNDARMANUAL

• 	Förpackningsmaterial kan vara farligt för barn. Det finns en kvävningsrisk. Lämna 
	 inte förpackningsmaterial inom räckhåll för små barn. 
• 	Använd inte enheten i dåliga väderförhållanden, såsom stark vind. 
• 	Bär inte löst sittande kläder när du använder grillen och låt inte hår komma i kontakt 
	 med grillen. 
• 	Installation och demontering får endast utföras av vuxna. 
• 	Håll alltid en brandsläckare nära denna produkt. 
• 	Placera inte gods som väger mer än 5 kg. på varje sidohylla. 
• 	Använd inte bensin, fotogen eller alkohol för att tända kol. Användning av en av 
	 dessa produkter eller liknande produkter kan orsaka en blixtbrand, blåslampa eller 
	 explosion. 
	 Allvarliga kroppsskador kan uppstå. 
• 	Lägg inte koltändare till den befintliga elden. En blixtbrand kan uppstå och orsaka 
	 personskada. 
• 	Tänd eller använd inte grillen utan den utdragbara asklådan på plats. 
• 	Håll ett avstånd på 3 meter mellan grillen och brännbara material när grillen 
	 används (inklusive, men inte begränsat till, buskar, buskar, träd, löv, gräs, trädäck 		
	 eller staket, byggnader, etc.) 
• 	Grillen ska vara förvärmd och bränslet får sjuda glödhett i minst 30 minuter innan 
	 den tillagas för första gången. 
• 	Koka inte förrän bränslet har ett askskikt. 
• 	Lämna inte gallret, kolen eller askan heta och utan tillsyn. 
• 	Försök inte flytta grillen medan den används. 
• 	Låt enheten svalna helt innan du rengör eller utför underhåll. 
• 	Det rekommenderas att den maximala kolkapaciteten är 2,0 kg. 
• 	VARNING! Denna grill blir väldigt varm, flytta den inte under användning. 
• 	Använd inte inomhus! 
• 	VARNING! Använd inte denaturerad sprit eller bensin för tändning eller omtändning! 
	 Använd endast tändare som uppfyller EN 1860-3! 
• 	VARNING! Håll barn och husdjur borta. 
• 	Använd inte öppen låga i grillbaljan, använd koleldar istället. 
 
 
 
 
 
 
 
 
 
Använd inte grillen i ett stängt och/eller beboeligt utrymme t.ex. hus, tält, husvagnar, 
husbilar, båtar. Dödlig fara för kolmonoxidförgiftning.



11

1

2

3

4 5

7
6

8

11

9

16

10

17

18

12

13

14
15



12

N° N°

1 10

2 11

3 12

4 13

5 14

6 15

7 16

8 17

9 18

Beschrijving/La description
Beschreibung/Description
Descripción/ Descrizione/Opis
Beskrivning

Beschrijving/La description
Beschreibung/Description
Descripción/ Descrizione/Opis
Beskrivning

Schoorsteendeksel
Couvercle de cheminée
Kamindeckel
Chimney lid
Tapa de chimenea
Coperchio del camino
Pokrywa komina
Skorstenslock

Rechter voorpoot/Pied avant 
droite/Rechtes Vorderbein
Front right leg/Pata delantera 
derecha/Gamba anteriore 
destra/Prawa przednia noga
Höger framben

Achter linkerpoot/Pied arrière 
gauche/Hinteres linkes Bein
Back left leg/pierna trasera 
izquierda/Gamba posteriore 
sinistra/Tylna lewa noga
Bakre vänstra ben

Voor linkerpoot/Pied avant 
gauche/Vorderes linkes Bein
Front left leg/pierna delantera 
izquierda/Gamba anteriore 
sinistra/Przednia lewa noga
Främre vänstra ben
Wiel/Roue/ Rad/Wheel/Rueda
Ruota/Koło/Hjul

Schoorsteen/Cheminée
Schornstein/Chimney
Chimenea/Canna fumaria
Komin/Skorsten

Onderste rek/Panier inférieur
Unteres Gestell/Bottom rack
Rejilla inferior/ Scaffalatura infe-
riore/ Kosz dolny/Nedre hyllan
Deur/Porte/ Tür/Cooking door
Puerta/Porta/Drzwi/Dörr

Houtskool deur/Porte charbon
Kohletür/ Charcoal door
Puerta de carbón/Porta 
carbone/Drzwi węglowe/
Koldörr

Behuizing/Corps/Körper
Body/Cuerpo/Corpo
Ciało/ Kropp

Handvat sluitring/ Rondelle de 
poignée/Griffscheibe/Handle 
washer/Arandela de la manija
Rondella maniglia/Podkładka 
uchwytu/Handtagsbricka
Kookrooster/Grille de cuisson
Grillrost/Cooking grid
Rejilla de cocción/Griglia di 
cottura/Siatka do gotowania
Matlagningsgaller

Bevestigingsplaat A/Plaque de 
fixation A/Befestigungsplatte A
Fixing plate A/Placa de fijación 
A/Piastra di fissaggio A/ Płyta 
mocująca A/Fästplatta A

Handvat/Poignée/Griff
Handle/Manija/Maniglia
Uchwyt/Handtag

Bevestigingsplaat B/Plaque de 
fixation B/Befestigungsplatte B
Fixing plate B/Placa de fijación 
B/Piastra di fissaggio B/ Płyta 
mocująca B/Fästplatta B

Houtskool rooster
Grille à charbon/ Kohlegitter 
Charcoal grid
Rejilla de carbón
Griglia a carbone
Siatka na węgiel drzewny 
Kolgaller
Aspan/Cendrier/ Aschepfanne
Ash pan/Cenicero/Cestello per 
la cenere/Popielnik/Askpanna

Rechter achterpoot/Pied 
arrière droit/Hinteres rechtes 
Bein/Back right leg/Pierna 
derecha trasera/Gamba destra 
posteriore/Tylna prawa noga
Bakre högra ben

Hoev./ Qté
Anzahl/Qty
Cant./ Qtà
Ilość/ Antal

Hoev./ Qté
Anzahl/Qty
Cant./ Qtà
Ilość/ Antal

1 1

1 1

1 1

2 1

1 2

1 2

1 1

1

1

1 2



13

2

16

17

11

14

15

A
A

A
A

A
A

A
A

A A
A

A

A A

AA

AA

A

A

10

9

Step 1

Step 2

A  M6*15 Screw  4pcs

A  M6*15 Screw  16pcs
2

16

17

11

14

15

A
A

A
A

A
A

A
A

A A
A

A

A A

AA

AA

A

A

10

9

Step 1

Step 2

A  M6*15 Screw  4pcs

A  M6*15 Screw  16pcs

A

B

C

D

M6*15 Schroef/Vis/Schraube
Screw/Tornillo/Vite/Śruba/ Skruva
M8 Borgmoer/Contre-écrou 
Kontermutter/Lock nut/Tuerca de 
bloqueo/Dado di sicurezza/ Na-
krętka zabezpieczająca/ Låsmutter

M6*12 Schroef/Vis/Schraube
Screw/Tornillo/Vite/Śruba/ Skruva
M8 Moer/Écrou/Mutter/Nut
Tuerca/Noce/Orzech/Mutter

33

2

4

4

1

2

A M6x15 = 4x

A M6x15 = 16x



14

2

Step 3

Step 4

B  M8 Lock nuts  2pcs

A  M6*15 Screw  3pcs

1

2

A

A

A

18

B

B

2

Step 3

Step 4

B  M8 Lock nuts  2pcs

A  M6*15 Screw  3pcs

1

2

A

A

A

18

B

B

2

Step 5

Step 6

A  M6*15 Screw  4pcs

A  M6*15 Screw  2pcs

3

A A

A

A

4 6

A

A

3

4

5

B M8 = 2x

A M6*15 = 3x

A M6*15 = 4x



15

2

Step 5

Step 6

A  M6*15 Screw  4pcs

A  M6*15 Screw  2pcs

3

A A

A

A

4 6

A

A

6

7

8

A M6*15 = 2x

C M6*12 = 2x
D M6 = 2x

C M6*12 = 2x
D M6 = 2x

2

Step 7

Step 8

C  M6*12 Screw  2pcs

12

C

C

D D

D  M6 Nut  2pcs

C  M6*12 Screw  2pcs

D  M6 Nut  2pcs

13

C

C
D

D

2

Step 7

Step 8

C  M6*12 Screw  2pcs

12

C

C

D D

D  M6 Nut  2pcs

C  M6*12 Screw  2pcs

D  M6 Nut  2pcs

13

C

C
D

D



16

2

Step 9

Step 10

A  M6*15 Screw  4pcs

A

A

A

A

5

7

8

2

Step 9

Step 10

A  M6*15 Screw  4pcs

A

A

A

A

5

7

8

9

10

A M6*15 = 4x



17

SERVICIO TELEFÓNICO: 
+32 (0) 11 191391 
De lunes a viernes de 9 a.m. a 5 p.m.
Los costos telefónicos pueden variar 
según su suscripción móvil.

SERVIZIO TELEFONICO: 
+32 (0) 11 191391 

Dal lunedì al venerdì - 9: 00 - 17: 00
I costi del telefono possono variare 
a seconda dell’abbonamento mobile.

WSPARCIE TELEFONICZNE: 
+32 (0) 11 191391 

Od poniedziałku do piątku w godz. 9-17 
Opłaty za telefon mogą się różnić w 
zależności od abonamentu komórkowego.

TELEFONSUPPORT: 
+32 (0) 11 191391 

Måndag till fredag - 9 - 17 
Telefonkostnader kan variera beroende på 
din mobilabonnemang.

IL NOSTRO TEAM MAXXTOOLS TI 
AIUTA CON:
n Domande sul tuo ordine
n Reclami
n Parti e manuali
In caso di domande o reclami, non 
esitate a contattarci e saremo felici di 
aiutarvi.

NUESTRO EQUIPO MAXXTOOLS TE 
AYUDA CON:
n Preguntas sobre tu pedido
n Quejas
n Piezas y manuales
Si tiene alguna pregunta o queja, 
contáctenos y estaremos encantados 
de ayudarle.

NASZ ZESPÓŁ SERWISOWY 
MAXXTOOLS POMOŻE CI:
n Pytania dotyczące zamówienia 
n Reklamacje 
n Części i instrukcje
Jeśli masz jakiekolwiek pytania lub 
skargi, skontaktuj się z nami, a my z 
przyjemnością Ci pomożemy.

The biggest online selec�on of home, garden, pet & toys. 

support@maxxtools.be
www.maxxtools.be

VÅRT SERVICETEAM MAXXTOOLS 
HJÄLPER DIG MED:
n Frågor om din beställning 
n Klagomål 
n Delar och manualer
Om du har några frågor eller klagomål, 
vänligen kontakta oss så hjälper vi dig 
gärna.



18

TELEFOONSERVICE: 
+32 (0) 11 191391 

Maandag tot vrijdag - 9u - 17u
De telefoon kosten kunnen variëren 
afhankelijk van uw mobiel abonnement.

ASSISTANCE TÉLÉPHONIQUE: 
+32 (0) 11 191391 
Du lundi au vendredi de 9h à 17h
Les frais de téléphone peuvent varier 
en fonction de votre abonnement mobile.

TELEPHONE SUPPORT: 
+32 (0) 11 191391 

Monday to friday - 9 am - 5 pm
Phone charges may vary depending on 
your mobile subscription.

TELEFON-SERVICE: 
+32 (0) 11 191391 
Montag bis freitag von 9 bis 17 Uhr
Die Telefonkosten können je nach 
Mobilfunkabonnement variieren.

ONS MAXXTOOLS TEAM HELPT JE MET:
n Vragen over je bestelling
n Klachten
n Onderdelen en handleidingen
Heb je vragen of klachten contacteer 
ons en we helpen je graag verder.

The biggest online selec�on of home, garden, pet & toys. 

OUR MAXXTOOLS SERVICE TEAM 
HELPS YOU WITH:
n Questions about your order
n Complaints
n Parts and manuals
If you have any questions or complaints, 
please contact us and we will be happy 
to help you.

NOTRE EQUIPE MAXXTOOLS VOUS 
AIDERA VOLONTIÈRE AUX CAS 
SUIVANTS:
n Questions sur votre commande
n Réclamations
n Pièces et manuels
Si vous avez des questions ou des 
plaintes, s’il vous plaît contactez-nous 
et nous serons heureux de vous aider.

UNSER MAXXTOOLS TEAM HILFT 
IHNEN GERNE BEI:
n Fragen zu Ihrer Bestellung
n Reklamationen
n Teile und Handbücher
Wenn Sie Fragen oder Beschwerden 
haben, wenden Sie sich bitte an uns. 
Wir helfen Ihnen gerne weiter.

support@maxxtools.be
www.maxxtools.be


